EXAM T SoLuTnuns

(_A) F\\ c\\\ Sjm*eb up J\v é,: D =H:o\c s)m"ms ’be,m er 173%&\

s o puctcles b
6@§~,Thl&=

’TYCRL)L (IR Y 2 BT AR ﬂW\)
Ee= _ mFk A" B %105eV

o8 5@&& ok s des Glende)-Gle) 2

b BN ) R

. ep i

|9 Fist mwmgmnﬂw R R

o nle) = JePeT

]I4S easiast b compude Tt tnsie

3(6)

Wddb

o A‘Je-: E (e G )(:1@, e xlee)r
- oo |, erai kT_é__%__—ﬁ_.__ﬂ_(kT)9@)_ )

E"“ D»OCT (Y,?‘il> _ (k) ( >°ﬂl



oy s e T
T

(._)Z

| -~ Jep
<€7: N _2__“1” (9 ec ,L"‘?SGS +' )D:’??K/O @\/l

_ 2__) “—‘/\{, absec AN p/wloo\)o li J‘Ij .per wmjL ere )5
Q A‘D(w)
WQ\M AR r@\deé fo Hhe lnce}‘m

ey e ‘p\wu o . ,TL?_CB L
B=T= A Tz o A= %u T

B SR TR 31;{1‘

K= palably/ont dme = T 1 f@ o

L Ne cam g ple) £ %\L JFE)M' m-\'maﬁa s Yoo o
i @i OnT volvwe and] e wmves tovel i _3@&&__ c
R To B
L I c@@ |

wQ\u.a, T6o)-dip will be Yo ?be@,\r /Uh\+ aua in ‘}{Q ]V\)Q/\\jq
Ao We have a ol ndensily To distriboted behwton,
W= W/ N amd W= IMe /A, 2D

S . o -

Ty =T _FY <A oV,
‘ ) = e = Zmee LYERAN o o
90 . o T‘Z 31:\ N Io e S TP~ 07}0)2‘ . IO oA

R: ('F\lzﬁl\) T QTC ) \/}\Z— \//\I m, _2: (sz‘)& cT



L [Rzooniss] o o dbsorgtion in Tse = W%

e define Yoo vmdse Qp sudh Wi BaFl)= Flea)
e e swas B [ 8ad=0 | whidh rmeans Yud
| Y gy eiopadindions shovld alse ke eigpnondims
o of Qe e Qa@%/\/\\/ﬂ\v\ﬂs Cam b Omy

pnveben with D=y T aed Fhe most genonl fundam m

ke

Al diple deamshe). P ko kel 1o photm sewgn m0

N

.hc//tﬁo%, o

—

[ - - A
tes [k -Hed e = Ao Z0E

CDE= N = AT AT

S ""'}I’Q‘Zb}

A= TWRL helus e

o R= 2 s (B2 XI0TS) oom= o

MV‘OW‘O»WV\&\\@V\M% S . Ek,:a,u Re> ., MHere

LK s Tt Gouom“\um puember for Yo velwdwal Gregual v
hown 0 K can _M\D, Cﬁxxaw%g by Lot (fn_clednic .



